
 

For  fu r the r  in fo rm at ion  about  E P D  P rogram m e,  p lease ,  v is i t  w w w .env i rondec .com  
 

 

 

 
According to PCR 2010:07 (v3.0). 

Programme: The International EPD® System, www.environdec.com 
Programme operator: EPD International AB 

 
Registration number: S-P-00693 
Date of publication: 2015-01-26 

Date of revision: 2020-06-22 
EPD Valid until: 2025-06-22 

 
For further information about EPD Programme, please, visit www.environdec.com 

Environmental Product Declaration 

for Organic Extra virgin olive oil 



 

 

Table of Contents 
 

1 Programme information ................................................. 3 

2 Product information ........................................................ 4 

2.1 Our origins ......................................................................... 4 

2.2 Environment and us ......................................................... 4 

2.3 Our production ................................................................. 6 

2.4 What the olive oil is. ......................................................... 6 

2.5 Intended aplications. ...................................................... 7 

3 The life cycle ................................................................... 8 

4 Principles and Criteria of Life Cycle Analysis (LCA) .... 9 

4.1 The functional unit ............................................................ 9 

4.2 System boundaries ........................................................ 10 

4.3 Time reference period of Life Cycle Analyisis. ............ 12 

4.4 Use of LCA software ....................................................... 12 

4.5 Criteria for life cycle Inventory ..................................... 12 

4.6 Data Quality ................................................................... 12 

4.7 Allocation rules .............................................................. 13 

5 Content Declaration ..................................................... 14 

5.1 Information about packaging ....................................... 14 

6 Environmental Performance ....................................... 15 

6.1 Environmental impacts .................................................. 15 

6.2 Use of resources ............................................................. 16 

6.3 Waste production and output flows .............................. 16 

7 Results of Life Cycle Analysis ...................................... 17 

8 Additional information ................................................. 34 

9 Information related to sector EPDs ............................. 35 

10 Differences versus previous versions ...................... 35 

11 References ................................................................. 36 

12 Declaration validity ................................................... 36 

13 Verification ................................................................ 37 

 
 
 
 
 
 
 
 
 
 
 
 
 



 

 

3 

1 Programme information 

EPD Program 

EPD program: EPD International AB, Box 210 

60, SE-100 31 Stockholm, Sweden,  

E-mail: info@environdec.com 

EPD Program 

Operator 
EPD Program Operator: EPD International AB 

PCR reviewed by 

The Technical Committee of the International 

EPD® System. A full list of members available 

on www.environdec.com. The review panel 

may be contacted via info@environdec.com. 

 

Members of the Technical Committee were 

requested to state any potential conflict of 

interest with the PCR moderator or PCR 

committee and were excused from the review 

Chair of the PCR 

review: 
Adriana del Borghi 

Product category 

rules (PCR) 

PCR 2010:07 v.3.0. VIRGIN OLIVE OIL AND ITS 

FRACTIONS - PRODUCT GROUP: UN CPC 21537 

EPD Registration 

Number 
S-P-00693 

EPD prepared by 

CO2 Consulting S.L. 

More information at www.co2co.es  

Contact: Juan Antonio Polo,  

E-mail: japolo@co2co.es 

EPD owner 

LUQUE ECOLOGICO S.L. 

More information at www.luque.bio 

Contact: Rafael Galvez, 

E-mail: rafael@luque.bio 

Validity date: 2025-06-22 

Geographical scope: Global 

Comparison of EPD 

within this PCR: 

EPDs within the same product category but 

from different programmes may not be 

comparable. 

 

 

 



 

 

4 

2 Product information 

2.1 Our origins 

After 6 generations of tradition as olive tree growers, the LUQUE 

family has developed organic farming of the olive grove at the top 

level of food quality and respect for the environment. 

 

Our roots as olive oil millers began in 1.850, when Mr. Pedro Urbano 

Luque (great-grandchild of D. Andrés of Luque Repiso) founded the 

mill known as “La Corredera” in Castro del Río, Córdoba. 

 

Recently, and after the stop for the Civil War, the tradition was 

carried out by the founder of the company Luque Ecologico S.L., 

José Antonio Luque Serrano (father of the current leaders' of the 

company). After several years working as general manager for the 

main Spanish oil company, José Antonio Luque decided to acquire 

in 1992 a traditional mill in its original location (Antiguo Molino de 

Ramiro, 1874) to continue with the family tradition. 

 

Now we can say, after a few centuries of tradition, that culture and 

olive oil secrets have been transmitted to us in its pure sense. 

New generation is trying to combine both ways for growing the olive 

trees, the traditional one and the modern one, taking the best of 

each one and always respecting the environment. The result of this 

is that all our olive groves have become ORGANIC. 

 

We started our organic activity in 1990 as pioneers in Spain because 

there was just one certifying body: CRAE (Committee of Regulation 

for Organic Farming). In February, 1999, we founded our olive oil 

mill, Luque Ecologico SL, where only organic olives were milled to 

preserve our organic concept. 

 

At this moment, our MAIN GOAL is diffusing ORGANIC FARMING and 

having a wide assortment of organic products under " LUQUE " 

brand. 

2.2 Environment and us 

Today, more than ever, environmental management is one of the 

main topics for the success of any business. For many people the 

answer is an Environmental Management System (EMS), a 

framework where impacts to environment can be reduce. Also, an 

EMS can be able to reduce costs, improve the efficiency and give a 

competitive advantage to a company. 



 

 

5 

ISO 14001 is an internationally accepted standard that gives the 

rules to establish an effective EMS. The standard is designed to get 

a balance between maintenance of profitability and reduction of 

impacts in the environment and, with support of organizations, it 

is possible to reach both objectives. 

 

In our case, and due to our special relationship with organic farming 

where environmental balance is very important, this standard has 

become essential because, after knowing those significant aspects 

from an environmental point of view, we have been able to work 

on them to minimize its possible impacts. 

The photovoltaic solar energy seems to be a very good solution for 

having less CO2 emissions. Each 1 Kw generated by this produces 

0,311 Kg of CO2 less. 

For this reason in Luque Ecologico, continuing with our permanent 

concern for the environment, have considered that we can help this 

way to minimize CO2 emissions to the atmosphere and we have 

installed a system of solar panels at the roof of our warehouse. 

 

It is the bigger size system in our area and we are going to produce 

25% less of CO2 emissions that mean around 44 Tm of CO2. So, our 

carbon footprint will be 53.000 KWh/year lower. 

 

With this project Luque Ecologico will produce around 25% of its 

energy needs by renewable energy that contributes to continue 

reducing the carbon footprint of our products such we’ve 

committed when started to use “CO2 Verified” logo. 



 

 

6 

2.3 Our production 

This document applies to Organic Extra Virgin Olive Oil produced 

by Luque Ecologico S.L. at its factory in Castro del Río, Córdoba.  

 

Luque Ecologico S.L. produces and markets more than a 1.000 Tm 

of organic extra virgin olive oil with the highest quality. More than 

75% of turnover is generated by exports to over 30 countries. The 

company manages more than 1.000 Has of organic olive orchards, 

through his own orchards and alliances with other farmers. 

 

2.4 What the olive oil is. 

Extra virgin olive oil is the juice of the olive (Olea europea L.). It is 

the only oil, among which are commonly found on the market, 

extracted from fresh fruit, and without the use of solvents. It is 

therefore a completely natural product with unique aroma and 

flavor come directly from the fruit you get. 1 

 

 
1  Source: http://www.internationaloliveoil.org/estaticos/view/83-designations-and-
definitions-of-olive-oils 

A virgin olive oil is obtained from fruit juice in perfect maturity, 

from a healthy olive oil being obtained starting form of a fresh fruit 

at optimum ripeness and in perfect condition after harvesting and 

transportation being processed at the mill in a minimum period of 

time, under criteria and quality control, solely by mechanical or 

other physical means and which have not undergone any treatment 

other than washing, decantation, centrifugation and / or 

filtration.2  

 

Virgin olive oils are classified as extra virgin, virgin and lampant. 

Only the first two are intended for direct consumption.3 

 

 

 

 

 

 

2 International Olive Council 
3 Source: http://www.interprofesionaldelaceitedeoliva.com/portal/ 



 

 

7 

2.5  Intended applications. 

Extra virgin olive oil is ideal for salads, sauces or dressings 

vegetables, so olive juice retains all the aroma and flavor. 

Furthermore, it is also eaten raw sprinkled on bread or toast or 

even on table olives with smoked meats, sandwiches, sausages, etc. 

Very versatile for the preparation of all kinds of sauces. 

 

Olive oils are the most stable vegetable fats and do not result toxic 

reactions when subjected to frying, grilling or baking, in normal 

conditions, thus contributing to improving the gastronomic 

qualities of food. Therefore, olive oils, are most suitable for 

cooking at high temperatures requires the preparation of food 

sauteed, roasted, stewed or fried. 

 

 

 

 

 

 

 

 



 

 

8 

3 The life cycle 

 

  

•Production of olive oil
•Production of 
electricity and fuels

•Production of packing 
materials

UPSTREAM 
PROCESSES

•EXTRACTION PHASE
•Transportation of the olive oil
•Extraction of the oil
•Storege of the olive oil
•Treatment of process wastes 
and wastewater

•Production of electricity and 
fuels used in this phase

•PACKAGING PHASE
•Transportation of packaging 
•Packaging of virgin olive oil
•Internal transportation and 
storage

•Waste management
•Production of electricity and 
fuels used in this phase

CORE PROCESSES

•Transport and delivery
•Product and 
packaging end-of-life

DOWNSTREAM 
PROCESSES

Figure 1 Stages of olive oil´s life cycle 



 

 

9 

4 Principles and Criteria of Life Cycle 

Analysis (LCA) 

This Environmental Product Declaration has been developed for the 

Organic Extra Virgin Olive Oil produced from the 2016/2017, 

2017/2018 and 2018/2019 harvest, by Luque Ecologico S.L. at his 

mill located in Castro del Río, Córdoba, Spain.  

 

4.1 The functional unit 

As provided in Product category rule 2010:07 v.3.0, the declared 

functional unit is "1 litter of organic extra virgin olive oil, packaging 

included." 

 

Following tables present a summary of the data regarding the 

content of packaging materials per functional unit based on 

representativeness of the packaging types: 

 

 

 

 

Table 1. Content of packaging materials per functional unit. 

Packaging Material Functional Unit (1 L) 

Glass 2,90E-01 

Can 1,29E-01 

PET 2,16E-03 

Label 3,06E-03 

Cap 1,93E-03 

Film 1,71E-03 

Cardboard 5,56E-02 

Pallet 2,11E-03 

 

Table 2. Composition of Functional Unit. 

Material Volume (L) Representativeness* (%) 

Glass 

1 L 36,68 

0,50 L 16,47 

0,25 L 2,09 

Can 

0,75 L 2,41 

3 L 28,13 

5 L 11,80 

PET 5 L 2,42 

*Representativeness over the total volume of olive oil extra virgin 

commercialized during three campaigns: 2016/20107, 2017/2018 and 

2018/2019. 

 



 

 

10 

4.2 System boundaries 

As showed in Figure 1 and according to the PCR 2010:07 v.3.0, olive 

oil´s life cycle is divided into upstream, core and downstream 

processes. The EPD system boundary is “cradle to crave”. 

 

1. UPSTREAM PROCESSES 
 

- Operations for the transformation of land use if the olive 

grove lifetime is expected to be less than 25 years.  

- Operations for the establishment of the olive grove 

including the irrigation system if the olive grove lifetime is 

expected to be less than 25 years.  

- Production of olive fruit (CPC 0145) used in the core process 

at the farms from the cradle, for which the following inflows 

shall be considered:  

× Production of seeds, cuttings or plants for the 

cultivation.  

× Production of inputs used, such as Fertilizers and 

Plant Protection Products.   

× Waste management.  

× Cultivation phase (e.g. land preparation, planting 

operation, irrigation, fertilization, plant protection 

products application, harvesting).  

× Emissions from fertilizers and plant protection 

products/pesticides application.  

× Wood use as by-product of renovation pruning or end 

of life of olive trees.  

× External transportation of inputs to production 

region and sites.  

× Extraction and use of water.  

× Production of auxiliary products for harvesting (nets, 

crates, detergents etc.)  

- Impacts due to the production of electricity and fuels used 

in the upstream module (generation of energy wares -fuel 

and electricity- used in agriculture at the farm).  

- Manufacturing of primary, secondary and tertiary 

packaging. 

 

 

 

 



 

 

11 

2. CORE PROCESSES 
A) EXTRACTION PHASE: 

- Mechanical processes to extract the oil contained in the 

olives, consisting on grinding, centrifugation, malaxating, 

and filtering the oil.  

- Use of water at the mill, exclusively for cleaning operations 

since this AOVE not incorporate water. 

- Preservation in stainless steel tanks. 

- Maintenance (e.g. of the machines). 

- Production of electricity and fuels used in the extraction 

module. 

- Pomace produced in this phase is considered as a co-

product.  

- Wastewater treatment. 

- Waste management, mainly “alpeorujo” (wet pomace) and 

auxiliary elements.  

B) PACKAGING PHASE  

- External transportation of packaging & raw materials to the 

packing unit. 

- Transportation of virgin olive oil to the packing unit. 

- Packaging of virgin olive oil. 

- Internal transportation. 

- Storage of packed product before dispatch. 

- Waste management generated during packing.  

- Production of electricity and fuels used in the packaging 

module. 

 

3. DOWNSTREAM PROCESSES 
 

- Distribution of EVOO to the clients following Incoterms 

Agreements in exports and, and “province level” in national 

expeditions in Spain expeditions to define the “gate” in any 

case. 

- Transportation to the retailer. 

- Consumer use of the product. 

- Recycling or disposal of the container after use. 

 

 

 

 



 

 

12 

4.3  Time reference period of Life Cycle Analysis. 

Data used for this study are reffered for campaigns 2016/2017, 

2017/2018 and 2019/2019. 

 

4.4  Use of LCA software  

Software system for global analysis "SimaPro 8.0.5" has been used 

to this life cycle assessment. The Ecoinvent database (v3.01) has 

been applied. 

 

4.5  Criteria for life cycle Inventory  

To estimate the end of life scenarios, several publications have 

been consulted on recyclability of the OECD. 

 

The kilometric distances have been obtained using “google maps” 

and nautical distances with "sea port distance calculator.”4. 

 

 
4 http://www.searates.com/reference/portdistance/  

4.6 Data Quality 

All data used in this Product Environmental study counts on less 

than 5 years old. Viability of all data submitted has been checked. 

 

All data used in this study are from the campaigns 2016/2017, 

2017/2018 and 2018/2019. 

 

Table 3. System boundary and scope of this study. The table illustrates 
the different life cycle stages according to the PCR. 

PARAMETERS UPSTREAM CORE DOWNSTREAM 

Pr
oc

es
se

s  

O
liv

e 
oi

l  
fr

ui
t  

El
ec

tr
ic

it
y 

an
d 

fu
el

s  

Pr
od

uc
ti

on
 

of
 

pa
ck

ag
in

g 
m

at
er

ia
l 

Ex
tr

ac
ti

on
 

ph
as

e 

Pa
ck

ag
in

g 
ph

as
e 

Tr
an

sp
or

t  
 

En
d  

of
 li

fe
 

Quality data* 1º 1º 2º 1º 1º 1º 2º 

Scope** X X X X X X X 

*Data Quality can be primary or specific data (1º) or secondary data (2º). 

**Scope: X= module is declared in EPD. MND = module not declared (does not 

indicate zero impact result). According to PCR 2010:07 v3.0. 

 



 

 

13 

4.7  Allocation rules 

The allocation refers to the allocation of input and output flows for 

a lifecycle module of the product that is being investigated as ISO 

14040. 

 

The assignment of the different factors of the impact categories 

studied for the case of electricity consumption is calculated from 

the average of Spanish electricity sources. The calculation of 

emissions (e.g., CO2, HCl, SO2 or particulates) that depends on the 

inputs is carried out based on the composition of the feed material. 

 

In this study, allocation has been avoided as far as possible. In case 

where allocation cannot be avoided, the inputs and outputs of the 

system have been partitioned between its different products or 

functions in a way that reflects the underlying physical 

relationships between them. 

 

 

 

 

 

 

Table 4. Allocation procedure in the product system. 

PROCESS 
MAIN PRODUCT AND CO-

PRODUCT 
ALLOCATION 
INSTRUCTION 

Cultivation of olives 
Wood produced by pruning 
and tree renovation 

Product mass 

Production of olive 
oil 

Pomace Product mass 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

14 

5 Content Declaration 

The gross weight of material declared in this EPD have been a 

minimum of 99 % of the functional unit.  

 

5.1 Information about packaging 

The packaging has been classified as distribution or consumer 

packaging. The table 4 shows the type, composition (about 

Ecoinvent v 3.01 database), function and treatment end-of-life. 

The different size packaging are as follow: 

 

Table 5. Type of packaging. 

Material Volume (L) 

Glass 

1 L 

0,50 L 

0,25 L 

Can 

0,75 L 

3 L 

5 L 

PET 5 L 

 

 

Table 6. Information about packaging. 

Packaging Type Composition Function 
Treatment 

end-of-life 

Distribution 

Packaging 

Cardboard 
Corrugated board 

box 

Secondary 

packaging 

Recycling 

treatment 

Pallet EUR-flat pallet Reuse 

Film 

Packaging film, 

low density 

polyethylene 

Recycling 

treatment 

Consumer 

packaging 

Glass 

bottle 

Packaging glass, 

green 

Primary 

packaging 

Recycling 

treatment 

Can bottle 
Steel, low-alloyed 

PET bottle 

Polyethylene 

terephthalate, 

granulate, bottle 

grade 

Label 
Printed paper, 

offset 

Cap 
Polyvinyl chloride, 

granulate 



 

 

15 

6 Environmental Performance 

6.1 Environmental impacts 

The impact categories considered for the evaluation of impact 

associated with the production of AOVE under 2010:07 v3.0 PCR are 

as follows: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

IMPACT CATEGORY (UNIT) CHARACTERISATION FACTORS 

Global warming potential 
(kg CO2 eq.) 

GWP100, CML 2001 baseline  
Version: January 2016. 

Acidification potential 
(kg SO2 eq.) 

AP, CML 2001 non-baseline 
Version: January 2016. 

Eutrophication potential 
(kg PO43- eq.) 

EP, CML 2001 baseline 
Version: January 2016. 

Photochemical oxidant 
formation potential 
(kg C2H4 eq.) 
 
(kg NMVOC eq.) 
 

POFP, LOTOS-EUROS as applied in 
ReCiPe 2008. 

Abiotic depletion potential – 
Elements (kg Sb eq.) 
 

ADPelements, CML 2001 baseline 
Version: January 2016. 

Abiotic depletion potential – 
Fossil fuels (MJ) 

ADPfossil, CML 2001 baseline  
Version: January 2016 

Water Scarcity Footprint 
(m3 H2O eq) 

WSF, AWARE Method. 
Boulay et al (2017) 

Human toxicity 
(kg 1,4-DB eq.) 

Tox H, CML 2001 non-baseline 
Version: January 2016. 

Freshwater aquatic eco-
toxicity (kg 1,4-DB eq) 

Ecotox W, CML 2001 non-baseline 
Version: January 2016. 

Ecological footprint (m2a) EF, Ecological footprint Version 1.01 
(April 2009) 

Land use (m2a) LU, Ecological footprint Version 1.01 
(April 2009) 



 

 

16 

6.2 Use of resources 

The indicators for resource use based on the life cycle inventory 

(LCI) listed following: 

- Primary energy resources – Renewable (MJ) 

- Primary energy resources – Non-renewable (MJ) 

- Secondary material (kg) 

- Renewable secondary fuels (MJ) 

- Non-renewable secondary fuels (MJ) 

- Net use of fresh water (m3) 

 

6.3 Waste production and output flows 

- Hazardous waste disposed (kg) 

- Non-hazardous waste disposed (kg) 

- Radioactive waste disposed (kg) 

- Components for reuse (kg) 

- Material for recycling (kg) 

- Materials for energy recovery (kg) 

- Exported energy, electricity (MJ) 

- Exported energy, thermal (MJ) 

  



 

 

17 

7 Results of Life Cycle Analysis 

Evaluation of the impact categories considered is shown in the 

following table, for the generic functional unit “1 liter of organic 

extra virgin olive oil”. 

 

 

 

 

 

 

 

 



 

 

18 

Table 7. Functional unit: 1 litre of organic extra virgin olive oil. 

PARAMETERS* UNIT TOTAL 

UPSTREAM MODULE CORE MODULE DOWNSTREAM MODULE 

Production 
of olive oil 

Production 
of 

electricity 
and fuel 

Production 
of packaging 

materials 

Extraction 
of olive oil 

Packaging 
phase Distribution Use phase End-of-

life 

GWP Fossil kg CO2 eq. 1,09E+00 5,35E-01 1,62E-01 4,51E-01 6,81E-02 3,13E-03 7,12E-02 0,00E+00 -2,05E-01 

GWP Biogenic kg CO2 eq. 7,89E-02 1,12E-02 2,17E-03 4,36E-02 4,82E-02 2,51E-05 7,10E-04 0,00E+00 -2,71E-02 

GWP LU&LT kg CO2 eq. 9,40E-04 1,48E-03 7,66E-05 5,26E-04 9,17E-05 1,11E-06 2,78E-05 0,00E+00 -1,26E-03 

GWP TOTAL kg CO2 eq. 1,17E+00 5,48E-01 1,64E-01 4,95E-01 1,16E-01 3,16E-03 7,20E-02 0,00E+00 -2,34E-01 

AP kg SO2 eq. 7,63E-03 4,94E-03 1,33E-03 3,54E-03 4,08E-04 1,97E-05 3,35E-04 0,00E+00 -2,94E-03 

EP kg PO4 3- 
eq. 

2,19E-01 2,18E-01 2,73E-04 8,14E-04 3,06E-04 3,91E-06 6,93E-05 0,00E+00 -5,09E-04 

POCP kg C2H4 eq. 5,11E-03 1,01E-04 1,75E-04 1,97E-03 2,35E-04 2,48E-05 4,02E-04 0,00E+00 2,21E-03 

Abiot elements kg Sb eq. 1,49E-05 1,38E-05 8,31E-08 1,29E-06 1,09E-07 8,59E-09 1,35E-07 0,00E+00 -5,65E-07 

Abiot f MJ 2,70E+01 6,98E+00 1,22E+01 6,20E+00 8,94E-01 4,99E-02 1,18E+00 0,00E+00 -4,31E-01 

WSP m3 eq. 1,30E+00 1,30E+00 6,40E-04 1,88E-03 8,45E-04 5,41E-06 1,47E-04 0,00E+00 -2,36E-03 

HT kg 1,4-DB eq 3,06E+00 2,90E+00 2,07E-02 1,38E-01 8,28E-03 4,88E-04 9,47E-03 0,00E+00 -1,56E-02 

Ecotox W kg 1,4-DB eq 1,06E+00 1,10E+00 2,29E-02 1,28E-01 5,17E-02 3,53E-04 1,09E-02 0,00E+00 -2,50E-01 

EF m2a 3,16E+00 1,49E+00 4,65E-01 1,40E+00 2,29E-01 8,72E-03 2,07E-01 0,00E+00 -6,42E-01 

LU m2a 1,24E-01 4,19E-02 7,93E-03 1,91E-01 7,32E-03 4,18E-04 1,85E-02 0,00E+00 -1,42E-01 

ByP kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

*GWP: Global warming potential; GWP LU-LT: GWP Land use and land transformation; AP: Acidification Potential; EP: Eutrophication potential; POCP: 
Formation potential of tropospheric ozone; Abiot elem: Abiotic depletion potential - Elements; Abiot f: Abiotic Depletion Potential -Fossil fuels; WSP: Water 
Scarcity Potential; HT: Human toxicity; Ecotox W: Freshwater aquatic eco-toxicity; EF: Ecological footprint; LU: Land use; ByP: By-products. 
 



 

 

19 

PARAMETERS UNIT TOTAL 

UPSTREAM MODULE CORE MODULE DOWNSTREAM MODULE 

Production 
of olive oil 

Production 
of 

electricity 
and fuel  

Production 
of 

packaging 
materials 

Extraction 
of olive 

oil 

Packaging 
phase Distribution Use 

phase 
End-of-

life 

USE OF RESOURCES 

Primary 
energy 
resources - 
Renewable 

Use as energy carrier MJ 2,24E-01 2,18E-01 4,47E-04 2,78E-03 5,41E-04 2,87E-05 4,71E-04 0,00E+00 1,70E-03 

Used as raw materials MJ 4,36E+00 4,19E+00 2,14E-02 1,40E-01 9,13E-03 4,93E-04 9,61E-03 0,00E+00 -1,80E-02 

TOTAL MJ 4,58E+00 4,41E+00 2,18E-02 1,43E-01 9,67E-03 5,22E-04 1,01E-02 0,00E+00 -1,63E-02 
Primary 
energy 
resources- 
Non-Renew 

Use as energy carrier MJ 2,82E+01 7,54E+00 1,23E+01 6,69E+00 1,01E+00 5,31E-02 1,25E+00 0,00E+00 -6,67E-01 

Used as raw materials MJ 4,22E+00 2,59E+00 4,88E-01 1,53E+00 2,81E-01 9,07E-03 2,18E-01 0,00E+00 -8,92E-01 

TOTAL MJ 3,24E+01 1,01E+01 1,28E+01 8,22E+00 1,29E+00 6,22E-02 1,47E+00 0,00E+00 -1,56E+00 

Secondary material kg 7,91E-02 0,00E+00 0,00E+00 7,78E-02 1,28E-03 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Renewable secondary fuels MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Non-renewable secondary fuels MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Net use of fresh water m3 eq. 1,65E+00 1,64E+00 0,00E+00 0,00E+00 1,56E-02 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

WASTE PRODUCTION AND OUTPUT FLOWS 

Hazardous waste disposed kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Non-hazardous waste disposed kg 1,29E-03 0,00E+00 0,00E+00 0,00E+00 1,29E-03 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Radioactive waste disposed kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Components for reuse kg 1,68E-03 0,00E+00 0,00E+00 0,00E+00 0,00E+00 1,68E-03 0,00E+00 0,00E+00 0,00E+00 

Material for recycling kg 6,06E-01 1,44E-04 0,00E+00 0,00E+00 0,00E+00 1,28E-03 0,00E+00 0,00E+00 6,04E-01 

Materials for energy recovery kg 5,46E-01 0,00E+00 0,00E+00 0,00E+00 5,46E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Exported energy, electricity kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Exported energy, thermal kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
 

 



 

 

20 

Table 8. Results of 1 liter of organic extra virgin olive oil bottled in glass of 1 lt. 

PARAMETERS* UNIT TOTAL 

UPSTREAM MODULE CORE MODULE DOWNSTREAM MODULE 

Production 
of olive oil 

Production of 
electricity and 

fuel  

Production 
of 

packaging 
materials 

Extration 
of olive oil 

Packaging 
phase Distribution Use 

phase 
End-of-

life 

GWP Fossil kg CO2 eq. 7,78E-01 5,35E-01 1,62E-01 6,93E-01 6,81E-02 6,40E-03 7,92E-02 0,00E+00 -7,66E-01 

GWP Biogenic kg CO2 eq. 7,74E-02 1,12E-02 2,17E-03 5,93E-02 4,82E-02 5,15E-05 7,90E-04 0,00E+00 -4,43E-02 

GWP LU-LT kg CO2 eq. 1,79E-03 1,48E-03 7,66E-05 7,00E-04 9,17E-05 2,26E-06 3,09E-05 0,00E+00 -5,91E-04 

GWP TOTAL kg CO2 eq. 8,57E-01 5,48E-01 1,64E-01 7,53E-01 1,16E-01 6,45E-03 8,00E-02 0,00E+00 -8,11E-01 

AP kg SO2 eq. 6,80E-03 4,94E-03 1,33E-03 5,66E-03 4,08E-04 4,02E-05 3,72E-04 0,00E+00 -5,95E-03 

EP kg PO4 3- eq. 2,19E-01 2,18E-01 2,73E-04 1,16E-03 3,06E-04 7,98E-06 7,71E-05 0,00E+00 -1,07E-03 

POCP kg C2H4 eq. 1,16E-03 1,01E-04 1,75E-04 3,06E-03 2,35E-04 5,05E-05 4,46E-04 0,00E+00 -2,91E-03 

Abiot elem kg Sb eq. 1,43E-05 1,38E-05 8,31E-08 1,52E-06 1,09E-07 1,75E-08 1,50E-07 0,00E+00 -1,39E-06 

Abiot f MJ 2,14E+01 6,98E+00 1,22E+01 9,58E+00 8,94E-01 1,02E-01 1,31E+00 0,00E+00 -9,66E+00 

WSP m3 eq. 1,30E+00 1,30E+00 6,40E-04 2,59E-03 8,45E-04 1,11E-05 1,63E-04 0,00E+00 -3,88E-03 

HT kg 1,4-DB eq 2,94E+00 2,90E+00 2,07E-02 9,09E-02 8,28E-03 9,96E-04 1,05E-02 0,00E+00 -9,13E-02 

Ecotox W kg 1,4-DB eq 1,18E+00 1,10E+00 2,29E-02 1,43E-01 5,17E-02 7,22E-04 1,21E-02 0,00E+00 -1,45E-01 

EF m2a 2,28E+00 1,49E+00 4,65E-01 2,12E+00 2,29E-01 1,78E-02 2,30E-01 0,00E+00 -2,27E+00 

LU m2a 1,11E-01 4,19E-02 7,93E-03 2,67E-01 7,32E-03 8,53E-04 2,06E-02 0,00E+00 -2,35E-01 

ByP kg 6,12E+00 9,89E-01 0,00E+00 0,00E+00 5,13E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

*GWP: Global warming potential; GWP LU-LT: GWP Land use and land transformation; AP: Acidification Potential; EP: Eutrophication potential; POCP: 
Formation potential of tropospheric ozone; Abiot elem: Abiotic depletion potential - Elements; Abiot f: Abiotic Depletion Potential -Fossil fuels; WSP: Water 
Scarcity Potential; HT: Human toxicity; Ecotox W: Freshwater aquatic eco-toxicity; EF: Ecological footprint; LU: Land use; ByP: By-products. 
 



 

 

21 

PARAMETERS UNIT TOTAL 

UPSTREAM MODULE CORE MODULE DOWNSTREAM MODULE 

Production 
of olive oil 

Production 
of 

electricity 
and fuel  

Production 
of 

packaging 
materials 

Extraction 
of olive 

oil 

Packaging 
phase Distribution Use 

phase 
End-of-

life 

USE OF RESOURCES 
Primary 
energy 
resources - 
Renewable 

Use as energy carrier MJ 2,20E-01 2,18E-01 4,47E-04 4,22E-03 5,41E-04 5,85E-05 5,24E-04 0,00E+00 -3,98E-03 

Used as raw materials MJ 4,24E+00 4,19E+00 2,14E-02 9,35E-02 9,13E-03 1,01E-03 1,07E-02 0,00E+00 -9,52E-02 

TOTAL MJ 4,46E+00 4,41E+00 2,18E-02 9,77E-02 9,67E-03 1,07E-03 1,12E-02 0,00E+00 -9,92E-02 
Primary 
energy 
resources - 
Non-renew 

Use as energy carrier MJ 2,22E+01 7,54E+00 1,23E+01 1,03E+01 1,01E+00 1,08E-01 1,39E+00 0,00E+00 -1,05E+01 

Used as raw materials MJ 3,47E+00 2,59E+00 4,88E-01 2,26E+00 2,81E-01 1,85E-02 2,42E-01 0,00E+00 -2,42E+00 

TOTAL MJ 2,57E+01 1,01E+01 1,28E+01 1,26E+01 1,29E+00 1,27E-01 1,63E+00 0,00E+00 -1,29E+01 

Secondary material kg 5,83E-02 0,00E+00 0,00E+00 5,70E-02 1,28E-03 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Renewable secondary fuels MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Non-renewable secondary fuels MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Net use of fresh water m3 eq. 1,65E+00 1,64E+00 0,00E+00 0,00E+00 1,56E-02 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

WASTE PRODUCTION AND OUTPUT FLOWS 
Hazardous waste disposed kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Non-hazardous waste disposed kg 1,29E-03 0,00E+00 0,00E+00 0,00E+00 1,29E-03 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Radioactive waste disposed kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Components for reuse kg 7,42E-04 0,00E+00 0,00E+00 0,00E+00 0,00E+00 7,42E-04 0,00E+00 0,00E+00 0,00E+00 

Material for recycling kg 7,16E-01 1,44E-04 0,00E+00 9,34E-06 0,00E+00 3,37E-03 0,00E+00 0,00E+00 7,12E-01 

Materials for energy recovery kg 5,46E-01 0,00E+00 0,00E+00 0,00E+00 5,46E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Exported energy, electricity kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Exported energy, thermal kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
 

 



 

 

22 

Table 9. Results of 1 liter of organic extra virgin olive oil bottled in glass of 0,5 lt. 

PARAMETERS* UNIT TOTAL 

UPSTREAM MODULE CORE MODULE DOWNSTREAM MODULE 

Production 
of olive oil 

Production 
of 

electricity 
and fuel  

Production 
of 

packaging 
materials 

Extraction 
of olive 

oil 

Packaging 
phase Distribution Use phase End-of-

life 

GWP Fossil kg CO2 eq. 7,63E-01 5,35E-01 1,62E-01 8,17E-01 6,81E-02 1,62E-03 8,15E-02 0,00E+00 -9,03E-01 

GWP Biogenic kg CO2 eq. 7,91E-02 1,12E-02 2,17E-03 6,89E-02 4,82E-02 1,29E-05 8,13E-04 0,00E+00 -5,22E-02 

GWP LU-LT kg CO2 eq. 1,80E-03 1,48E-03 7,66E-05 8,19E-04 9,17E-05 5,73E-07 3,18E-05 0,00E+00 -6,96E-04 

GWP TOTAL kg CO2 eq. 8,44E-01 5,48E-01 1,64E-01 8,87E-01 1,16E-01 1,64E-03 8,24E-02 0,00E+00 -9,56E-01 

AP kg SO2 eq. 6,74E-03 4,94E-03 1,33E-03 6,67E-03 4,08E-04 1,02E-05 3,83E-04 0,00E+00 -7,00E-03 

EP kg PO4 3- eq. 2,19E-01 2,18E-01 2,73E-04 1,36E-03 3,06E-04 2,02E-06 7,93E-05 0,00E+00 -1,26E-03 

POCP kg C2H4 eq. 1,18E-03 1,01E-04 1,75E-04 3,63E-03 2,35E-04 1,28E-05 4,59E-04 0,00E+00 -3,43E-03 

Abiot elem kg Sb eq. 1,43E-05 1,38E-05 8,31E-08 1,77E-06 1,09E-07 4,44E-09 1,55E-07 0,00E+00 -1,63E-06 

Abiot f MJ 2,13E+01 6,98E+00 1,22E+01 1,13E+01 8,94E-01 2,58E-02 1,35E+00 0,00E+00 -1,14E+01 

WSP m3 eq. 1,30E+00 1,30E+00 6,40E-04 3,11E-03 8,45E-04 2,80E-06 1,68E-04 0,00E+00 -4,64E-03 

HT kg 1,4-DB eq 2,94E+00 2,90E+00 2,07E-02 1,08E-01 8,28E-03 2,53E-04 1,08E-02 0,00E+00 -1,08E-01 

Ecotox W kg 1,4-DB eq 1,18E+00 1,10E+00 2,29E-02 1,68E-01 5,17E-02 1,83E-04 1,24E-02 0,00E+00 -1,70E-01 

EF m2a 2,25E+00 1,49E+00 4,65E-01 2,50E+00 2,29E-01 4,51E-03 2,37E-01 0,00E+00 -2,68E+00 

LU m2a 1,16E-01 4,19E-02 7,93E-03 3,14E-01 7,32E-03 2,16E-04 2,12E-02 0,00E+00 -2,77E-01 

ByP kg 6,12E+00 9,89E-01 0,00E+00 0,00E+00 5,13E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
*GWP: Global warming potential; GWP LU-LT: GWP Land use and land transformation; AP: Acidification Potential; EP: Eutrophication potential; POCP: 
Formation potential of tropospheric ozone; Abiot elem: Abiotic depletion potential - Elements; Abiot f: Abiotic Depletion Potential -Fossil fuels; WSP: Water 
Scarcity Potential; HT: Human toxicity; Ecotox W: Freshwater aquatic eco-toxicity; EF: Ecological footprint; LU: Land use; ByP: By-products. 
 

 

 



 

 

23 

PARAMETERS UNIT TOTAL 

UPSTREAM MODULE CORE MODULE DOWNSTREAM MODULE 

Production 
of olive oil 

Production 
of 

electricity 
and fuel  

Production 
of 

packaging 
materials 

Extration 
of olive 

oil 

Packaging 
phase Distribution Use 

phase 
End-of-

life 

USE OF RESOURCES 
Primary 
energy 
resources - 
Renew 

Use as energy carrier MJ 2,20E-01 2,18E-01 4,47E-04 4,99E-03 5,41E-04 1,48E-05 5,39E-04 0,00E+00 -4,69E-03 

Used as raw materials MJ 4,24E+00 4,19E+00 2,14E-02 1,11E-01 9,13E-03 2,55E-04 1,10E-02 0,00E+00 -1,12E-01 

TOTAL MJ 4,46E+00 4,41E+00 2,18E-02 1,16E-01 9,67E-03 2,70E-04 1,15E-02 0,00E+00 -1,17E-01 
Primary 
energy 
resources - 
Non-renew 

Use as energy carrier MJ 2,22E+01 7,54E+00 1,23E+01 1,22E+01 1,01E+00 2,75E-02 1,43E+00 0,00E+00 -1,24E+01 

Used as raw materials MJ 3,43E+00 2,59E+00 4,88E-01 2,67E+00 2,81E-01 4,69E-03 2,49E-01 0,00E+00 -2,85E+00 

TOTAL MJ 2,56E+01 1,01E+01 1,28E+01 1,49E+01 1,29E+00 3,22E-02 1,68E+00 0,00E+00 -1,52E+01 

Secondary material kg 2,22E-01 0,00E+00 0,00E+00 2,21E-01 1,28E-03 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Renewable secondary fuels MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Non-renewable secondary fuels MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Net use of fresh water m3 eq. 1,65E+00 1,64E+00 0,00E+00 0,00E+00 1,56E-02 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
WASTE PRODUCTION AND OUTPUT FLOWS 

Hazardous waste disposed kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Non-hazardous waste disposed kg 1,29E-03 0,00E+00 0,00E+00 0,00E+00 1,29E-03 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Radioactive waste disposed kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Components for reuse kg 7,56E-05 0,00E+00 0,00E+00 0,00E+00 0,00E+00 7,56E-05 0,00E+00 0,00E+00 0,00E+00 

Material for recycling kg 7,97E-01 1,44E-04 0,00E+00 4,15E-06 0,00E+00 1,48E-03 0,00E+00 0,00E+00 7,96E-01 

Materials for energy recovery kg 5,46E-01 0,00E+00 0,00E+00 0,00E+00 5,46E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Exported energy, electricity kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Exported energy, thermal kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
 

 

 



 

 

24 

Table 10. Results of 1 liter of organic extra virgin olive oil bottled in glass of 0,25 lt. 

PARAMETERS* UNIT TOTAL 

UPSTREAM MODULE CORE MODULE DOWNSTREAM MODULE 

Production 
of olive oil 

Production 
of 

electricity 
and fuel  

Production 
of 

packaging 
materials 

Extraction 
of olive 

oil 

Packaging 
phase Distribution Use phase End-of-life 

GWP Fossil kg CO2 eq. 1,41E+00 5,35E-01 1,62E-01 9,03E-01 6,81E-02 3,35E-03 1,77E-02 0,00E+00 -2,81E-01 

GWP Biogenic kg CO2 eq. 7,71E-02 1,12E-02 2,17E-03 7,60E-02 4,82E-02 2,69E-05 1,76E-04 0,00E+00 -6,06E-02 

GWP LU-LT kg CO2 eq. 1,95E-03 1,48E-03 7,66E-05 9,17E-04 9,17E-05 1,19E-06 6,90E-06 0,00E+00 -6,22E-04 

GWP TOTAL kg CO2 eq. 1,49E+00 5,48E-01 1,64E-01 9,80E-01 1,16E-01 3,38E-03 1,79E-02 0,00E+00 -3,43E-01 

AP kg SO2 eq. 1,33E-02 4,94E-03 1,33E-03 7,40E-03 4,08E-04 2,11E-05 8,31E-05 0,00E+00 -8,85E-04 

EP kg PO4 3- eq. 2,20E-01 2,18E-01 2,73E-04 1,50E-03 3,06E-04 4,19E-06 1,72E-05 0,00E+00 -1,95E-04 

POCP kg C2H4 eq. 1,25E-02 1,01E-04 1,75E-04 4,06E-03 2,35E-04 2,65E-05 9,97E-05 0,00E+00 7,77E-03 

Abiot elem kg Sb eq. 1,49E-05 1,38E-05 8,31E-08 1,94E-06 1,09E-07 9,19E-09 3,35E-08 0,00E+00 -1,08E-06 

Abiot f MJ 3,83E+01 6,98E+00 1,22E+01 1,25E+01 8,94E-01 5,34E-02 2,92E-01 0,00E+00 5,39E+00 

WSP m3 eq. 1,30E+00 1,30E+00 6,40E-04 3,49E-03 8,45E-04 5,80E-06 3,65E-05 0,00E+00 -3,86E-03 

HT kg 1,4-DB eq 3,09E+00 2,90E+00 2,07E-02 1,16E-01 8,28E-03 5,22E-04 2,35E-03 0,00E+00 4,57E-02 

Ecotox W kg 1,4-DB eq 1,20E+00 1,10E+00 2,29E-02 1,83E-01 5,17E-02 3,78E-04 2,70E-03 0,00E+00 -1,53E-01 

EF m2a 5,16E+00 1,49E+00 4,65E-01 2,77E+00 2,29E-01 9,33E-03 5,14E-02 0,00E+00 1,37E-01 

LU m2a 1,09E-01 4,19E-02 7,93E-03 3,53E-01 7,32E-03 4,47E-04 4,59E-03 0,00E+00 -3,07E-01 

ByP kg 6,12E+00 9,89E-01 0,00E+00 0,00E+00 5,13E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

*GWP: Global warming potential; GWP LU-LT: GWP Land use and land transformation; AP: Acidification Potential; EP: Eutrophication potential; POCP: 
Formation potential of tropospheric ozone; Abiot elem: Abiotic depletion potential - Elements; Abiot f: Abiotic Depletion Potential -Fossil fuels; WSP: Water 
Scarcity Potential; HT: Human toxicity; Ecotox W: Freshwater aquatic eco-toxicity; EF: Ecological footprint; LU: Land use; ByP: By-products. 
 
 
 
 



 

 

25 

PARAMETERS UNIT TOTAL 

UPSTREAM MODULE CORE MODULE DOWNSTREAM MODULE 

Production 
of olive oil 

Production 
of 

electricity 
and fuel  

Production 
of 

packaging 
materials 

Extration 
of olive 

oil 

Packaging 
phase Distribution Use 

phase 
End-of-

life 

USE OF RESOURCES 
Primary 
energy 
resources - 
Renewable 

Use as energy carrier MJ 2,32E-01 2,18E-01 4,47E-04 5,56E-03 5,41E-04 3,07E-05 1,17E-04 0,00E+00 7,57E-03 

Used as raw materials MJ 4,39E+00 4,19E+00 2,14E-02 1,19E-01 9,13E-03 5,28E-04 2,39E-03 0,00E+00 4,18E-02 

TOTAL MJ 4,62E+00 4,41E+00 2,18E-02 1,25E-01 9,67E-03 5,59E-04 2,50E-03 0,00E+00 4,94E-02 
Primary 
energy 
resources - 
Non-renew 

Use as energy carrier MJ 3,98E+01 7,54E+00 1,23E+01 1,35E+01 1,01E+00 5,68E-02 3,10E-01 0,00E+00 5,05E+00 

Used as raw materials MJ 6,36E+00 2,59E+00 4,88E-01 2,96E+00 2,81E-01 9,71E-03 5,41E-02 0,00E+00 -1,62E-02 

TOTAL MJ 4,61E+01 1,01E+01 1,28E+01 1,64E+01 1,29E+00 6,65E-02 3,65E-01 0,00E+00 5,03E+00 

Secondary material kg 2,29E-01 0,00E+00 0,00E+00 2,28E-01 1,28E-03 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Renewable secondary fuels MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Non-renewable secondary fuels MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Net use of fresh water m3 eq. 1,65E+00 1,64E+00 0,00E+00 0,00E+00 1,56E-02 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
WASTE PRODUCTION AND OUTPUT FLOWS 

Hazardous waste disposed kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Non-hazardous waste disposed kg 1,29E-03 0,00E+00 0,00E+00 0,00E+00 1,29E-03 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Radioactive waste disposed kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Components for reuse kg 9,04E-05 0,00E+00 0,00E+00 0,00E+00 0,00E+00 9,04E-05 0,00E+00 0,00E+00 0,00E+00 

Material for recycling kg 1,88E-01 1,44E-04 0,00E+00 4,22E-07 0,00E+00 1,51E-04 0,00E+00 0,00E+00 1,88E-01 

Materials for energy recovery kg 5,46E-01 0,00E+00 0,00E+00 0,00E+00 5,46E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Exported energy, electricity kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Exported energy, thermal kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
 

 

 



 

 

26 

Table 11. Results of 1 litre of organic extra virgin olive oil bottled in can of 0,75 lt. 

PARAMETERS* UNIT TOTAL 

UPSTREAM MODULE CORE MODULE DOWNSTREAM MODULE 

Production 
of olive oil 

Production 
of 

electricity 
and fuel  

Production 
of 

packaging 
materials 

Extraction 
of olive 

oil 

Packaging 
phase Distribution Use phase End-of-

life 

GWP Fossil kg CO2 eq. 1,60E+00 5,35E-01 1,62E-01 3,79E-01 6,81E-02 7,10E-03 1,85E-02 0,00E+00 4,34E-01 
GWP Biogenic kg CO2 eq. 6,34E-02 1,12E-02 2,17E-03 2,84E-02 4,82E-02 5,72E-05 1,84E-04 0,00E+00 -2,68E-02 
GWP LU-LT kg CO2 eq. 8,70E-04 1,48E-03 7,66E-05 5,13E-04 9,17E-05 2,50E-06 7,20E-06 0,00E+00 -1,30E-03 
GWP TOTAL kg CO2 eq. 1,67E+00 5,48E-01 1,64E-01 4,08E-01 1,16E-01 7,16E-03 1,87E-02 0,00E+00 4,05E-01 
AP kg SO2 eq. 6,08E-03 4,94E-03 1,33E-03 1,91E-03 4,08E-04 4,46E-05 8,67E-05 0,00E+00 -2,63E-03 
EP kg PO4 3- eq. 2,15E-01 2,18E-01 2,73E-04 1,15E-03 3,06E-04 8,86E-06 1,80E-05 0,00E+00 -4,30E-03 
POCP kg C2H4 eq. 5,14E-03 1,01E-04 1,75E-04 1,61E-03 2,35E-04 5,61E-05 1,04E-04 0,00E+00 2,86E-03 
Abiot elem kg Sb eq. 1,83E-05 1,38E-05 8,31E-08 4,74E-06 1,09E-07 1,94E-08 3,50E-08 0,00E+00 -4,49E-07 
Abiot f MJ 2,65E+01 6,98E+00 1,22E+01 3,71E+00 8,94E-01 1,13E-01 3,05E-01 0,00E+00 2,34E+00 
WSP m3 eq. 1,30E+00 1,30E+00 6,40E-04 2,90E-03 8,45E-04 1,23E-05 3,81E-05 0,00E+00 -7,70E-03 
HT kg 1,4-DB eq 3,72E+00 2,90E+00 2,07E-02 1,09E+00 8,28E-03 1,11E-03 2,45E-03 0,00E+00 -2,89E-01 
Ecotox W kg 1,4-DB eq 1,48E+00 1,10E+00 2,29E-02 4,67E-01 5,17E-02 8,00E-04 2,81E-03 0,00E+00 -1,66E-01 
EF m2a 4,65E+00 1,49E+00 4,65E-01 1,06E+00 2,29E-01 1,97E-02 5,37E-02 0,00E+00 1,33E+00 

LU m2a 4,14E-02 4,19E-02 7,93E-03 7,27E-02 7,32E-03 9,47E-04 4,79E-03 0,00E+00 -9,42E-02 
ByP kg 6,12E+00 9,89E-01 0,00E+00 0,00E+00 5,13E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

*GWP: Global warming potential; GWP LU-LT: GWP Land use and land transformation; AP: Acidification Potential; EP: Eutrophication potential; POCP: 
Formation potential of tropospheric ozone; Abiot elem: Abiotic depletion potential - Elements; Abiot f: Abiotic Depletion Potential -Fossil fuels; WSP: Water 
Scarcity Potential; HT: Human toxicity; Ecotox W: Freshwater aquatic eco-toxicity; EF: Ecological footprint; LU: Land use; ByP: By-products. 
 

 

 

 



 

 

27 

PARAMETERS UNIT TOTAL 

UPSTREAM MODULE CORE MODULE DOWNSTREAM MODULE 

Production 
of olive oil 

Production 
of 

electricity 
and fuel  

Production 
of 

packaging 
materials 

Extraction 
of olive 

oil 

Packaging 
phase Distribution Use 

phase 
End-of-

life 

USE OF RESOURCES 
Primary 
energy 
resources - 
Renewable 

Use as energy carrier MJ 2,21E-01 2,18E-01 4,47E-04 2,76E-03 5,41E-04 6,49E-05 1,22E-04 0,00E+00 -1,45E-03 
Used as raw materials MJ 5,02E+00 4,19E+00 2,14E-02 1,09E+00 9,13E-03 1,12E-03 2,49E-03 0,00E+00 -2,97E-01 

TOTAL MJ 5,24E+00 4,41E+00 2,18E-02 1,09E+00 9,67E-03 1,18E-03 2,61E-03 0,00E+00 -2,98E-01 

Primary 
energy 
resources - 
Non-renew 

Use as energy carrier MJ 2,82E+01 7,54E+00 1,23E+01 4,12E+00 1,01E+00 1,20E-01 3,24E-01 0,00E+00 2,74E+00 
Used as raw materials MJ 6,13E+00 2,59E+00 4,88E-01 1,52E+00 2,81E-01 2,05E-02 5,65E-02 0,00E+00 1,17E+00 

TOTAL MJ 3,43E+01 1,01E+01 1,28E+01 5,65E+00 1,29E+00 1,41E-01 3,80E-01 0,00E+00 3,91E+00 

Secondary material kg 2,99E-02 0,00E+00 0,00E+00 2,86E-02 1,28E-03 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Renewable secondary fuels MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Non-renewable secondary fuels MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Net use of fresh water m3 eq. 1,65E+00 1,64E+00 0,00E+00 0,00E+00 1,56E-02 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
WASTE PRODUCTION AND OUTPUT FLOWS 
Hazardous waste disposed kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Non-hazardous waste disposed kg 1,29E-03 0,00E+00 0,00E+00 0,00E+00 1,29E-03 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Radioactive waste disposed kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Components for reuse kg 1,28E-03 0,00E+00 0,00E+00 0,00E+00 0,00E+00 1,28E-03 0,00E+00 0,00E+00 0,00E+00 
Material for recycling kg 3,36E-02 1,44E-04 0,00E+00 5,06E-07 0,00E+00 1,81E-04 0,00E+00 0,00E+00 3,33E-02 
Materials for energy recovery kg 5,46E-01 0,00E+00 0,00E+00 0,00E+00 5,46E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Exported energy, electricity kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Exported energy, thermal kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

 

 

 

 



 

 

28 

Table 12. Results of 1 litre of organic extra virgin olive oil bottled in can of 3 lt. 

PARAMETERS UNIT TOTAL 

UPSTREAM MODULE CORE MODULE DOWNSTREAM MODULE 

Production 
of olive oil 

Production 
of 

electricity 
and fuel  

Production 
of 

packaging 
materials 

Extraction 
of olive 

oil 

Packaging 
phase Distribution Use phase End-of-

life 

GWP Fossil kg CO2 eq. 1,50E+00 5,35E-01 1,62E-01 9,59E-02 6,81E-02 1,14E-03 7,85E-02 0,00E+00 5,63E-01 

GWP Biogenic kg CO2 eq. 7,57E-02 1,12E-02 2,17E-03 1,71E-02 4,82E-02 9,02E-06 7,82E-04 0,00E+00 -3,81E-03 

GWP LU-LT kg CO2 eq. 1,70E-03 1,48E-03 7,66E-05 2,29E-04 9,17E-05 3,96E-07 3,06E-05 0,00E+00 -2,09E-04 

GWP TOTAL kg CO2 eq. 1,58E+00 5,48E-01 1,64E-01 1,13E-01 1,16E-01 1,15E-03 7,93E-02 0,00E+00 5,59E-01 

AP kg SO2 eq. 8,78E-03 4,94E-03 1,33E-03 4,86E-04 4,08E-04 7,14E-06 3,69E-04 0,00E+00 1,24E-03 

EP kg PO4 3- eq. 2,19E-01 2,18E-01 2,73E-04 2,82E-04 3,06E-04 1,42E-06 7,63E-05 0,00E+00 2,72E-04 

POCP kg C2H4 eq. 1,05E-02 1,01E-04 1,75E-04 3,91E-04 2,35E-04 8,99E-06 4,42E-04 0,00E+00 9,12E-03 
Abiot elem kg Sb eq. 1,56E-05 1,38E-05 8,31E-08 9,19E-07 1,09E-07 3,12E-09 1,49E-07 0,00E+00 5,42E-07 
Abiot f MJ 3,47E+01 6,98E+00 1,22E+01 1,24E+00 8,94E-01 1,81E-02 1,30E+00 0,00E+00 1,21E+01 

WSP m3 eq. 1,30E+00 1,30E+00 6,40E-04 6,27E-04 8,45E-04 1,96E-06 1,62E-04 0,00E+00 -2,59E-04 
HT kg 1,4-DB eq 3,21E+00 2,90E+00 2,07E-02 1,90E-01 8,28E-03 1,77E-04 1,04E-02 0,00E+00 8,80E-02 
Ecotox W kg 1,4-DB eq 8,96E-01 1,10E+00 2,29E-02 9,06E-02 5,17E-02 1,27E-04 1,20E-02 0,00E+00 -3,78E-01 

EF m2a 4,30E+00 1,49E+00 4,65E-01 2,99E-01 2,29E-01 3,16E-03 2,28E-01 0,00E+00 1,59E+00 

LU m2a 9,85E-02 4,19E-02 7,93E-03 4,72E-02 7,32E-03 1,51E-04 2,04E-02 0,00E+00 -2,64E-02 
ByP kg 6,12E+00 9,89E-01 0,00E+00 0,00E+00 5,13E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

*GWP: Global warming potential; GWP LU-LT: GWP Land use and land transformation; AP: Acidification Potential; EP: Eutrophication potential; POCP: 
Formation potential of tropospheric ozone; Abiot elem: Abiotic depletion potential - Elements; Abiot f: Abiotic Depletion Potential -Fossil fuels; WSP: Water 
Scarcity Potential; HT: Human toxicity; Ecotox W: Freshwater aquatic eco-toxicity; EF: Ecological footprint; LU: Land use; ByP: By-products. 
 

 

 

 



 

 

29 

PARAMETERS UNIT TOTAL 

UPSTREAM MODULE CORE MODULE DOWNSTREAM MODULE 

Production 
of olive oil 

Production 
of 

electricity 
and fuel  

Production 
of 

packaging 
materials 

Extraction 
of olive 

oil 

Packaging 
phase Distribution Use 

phase 
End-of-

life 

USE OF RESOURCES 
Primary 
energy 
resources - 
Renewable 

Use as energy carrier MJ 2,30E-01 2,18E-01 4,47E-04 6,73E-04 5,41E-04 1,04E-05 5,19E-04 0,00E+00 9,39E-03 
Used as raw materials MJ 4,51E+00 4,19E+00 2,14E-02 1,91E-01 9,13E-03 1,79E-04 1,06E-02 0,00E+00 8,77E-02 

TOTAL MJ 4,74E+00 4,41E+00 2,18E-02 1,92E-01 9,67E-03 1,89E-04 1,11E-02 0,00E+00 9,71E-02 

Primary 
energy 
resources - 
Non-renew 

Use as energy carrier MJ 3,63E+01 7,54E+00 1,23E+01 1,35E+00 1,01E+00 1,93E-02 1,38E+00 0,00E+00 1,27E+01 
Used as raw materials MJ 5,20E+00 2,59E+00 4,88E-01 3,90E-01 2,81E-01 3,29E-03 2,40E-01 0,00E+00 1,21E+00 

TOTAL MJ 4,15E+01 1,01E+01 1,28E+01 1,75E+00 1,29E+00 2,26E-02 1,62E+00 0,00E+00 1,39E+01 

Secondary material kg 8,52E-03 0,00E+00 0,00E+00 7,24E-03 1,28E-03 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Renewable secondary fuels MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Non-renewable secondary fuels MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Net use of fresh water m3 eq. 1,65E+00 1,64E+00 0,00E+00 0,00E+00 1,56E-02 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
WASTE PRODUCTION AND OUTPUT FLOWS 
Hazardous waste disposed kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Non-hazardous waste disposed kg 1,29E-03 0,00E+00 0,00E+00 0,00E+00 1,29E-03 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Radioactive waste disposed kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Components for reuse kg 5,26E-04 0,00E+00 0,00E+00 0,00E+00 0,00E+00 5,26E-04 0,00E+00 0,00E+00 0,00E+00 
Material for recycling kg 2,73E-03 1,44E-04 0,00E+00 7,17E-06 0,00E+00 2,57E-03 0,00E+00 0,00E+00 0,00E+00 
Materials for energy recovery kg 5,46E-01 0,00E+00 0,00E+00 0,00E+00 5,46E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Exported energy, electricity kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Exported energy, thermal kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

 

 

 

 



 

 

30 

Table 13. Results of 1 litre of organic extra virgin olive oil bottled in can of 5 lt. 

PARAMETERS* UNIT TOTAL 

UPSTREAM MODULE CORE MODULE DOWNSTREAM MODULE 

Production 
of olive oil 

Production 
of 

electricity 
and fuel  

Production 
of 

packaging 
materials 

Extraction 
of olive 

oil 

Packaging 
phase Distribution Use phase End-of-

life 

GWP Fossil kg CO2 eq. 1,72E+00 5,35E-01 1,62E-01 1,74E-01 6,81E-02 4,35E-04 6,31E-02 0,00E+00 9,17E-01 

GWP Biogenic kg CO2 eq. 7,18E-02 1,12E-02 2,17E-03 3,77E-02 4,82E-02 3,35E-06 6,29E-04 0,00E+00 -1,03E-03 

GWP LU-LT kg CO2 eq. 7,74E-06 1,48E-03 7,66E-05 4,30E-04 9,17E-05 1,47E-07 2,46E-05 0,00E+00 -8,33E-04 

GWP TOTAL kg CO2 eq. 1,79E+00 5,48E-01 1,64E-01 2,12E-01 1,16E-01 4,38E-04 6,37E-02 0,00E+00 9,16E-01 

AP kg SO2 eq. 9,51E-03 4,94E-03 1,33E-03 1,05E-03 4,08E-04 2,73E-06 2,96E-04 0,00E+00 4,43E-03 

EP kg PO4 3- eq. 2,19E-01 2,18E-01 2,73E-04 4,44E-04 3,06E-04 5,42E-07 6,14E-05 0,00E+00 8,01E-04 

POCP kg C2H4 eq. 1,42E-02 1,01E-04 1,75E-04 6,33E-04 2,35E-04 3,44E-06 3,55E-04 0,00E+00 1,05E-02 
Abiot elem kg Sb eq. 1,49E-05 1,38E-05 8,31E-08 6,77E-07 1,09E-07 1,20E-09 1,20E-07 0,00E+00 6,56E-07 
Abiot f MJ 3,85E+01 6,98E+00 1,22E+01 2,42E+00 8,94E-01 6,94E-03 1,04E+00 0,00E+00 1,55E+01 

WSP m3 eq. 1,30E+00 1,30E+00 6,40E-04 1,28E-03 8,45E-04 7,40E-07 1,30E-04 0,00E+00 6,26E-04 
HT kg 1,4-DB eq 3,15E+00 2,90E+00 2,07E-02 1,05E-01 8,28E-03 6,78E-05 8,38E-03 0,00E+00 1,32E-01 
Ecotox W kg 1,4-DB eq 8,68E-01 1,10E+00 2,29E-02 8,23E-02 5,17E-02 4,81E-05 9,61E-03 0,00E+00 -1,46E-01 

EF m2a 4,87E+00 1,49E+00 4,65E-01 6,83E-01 2,29E-01 1,21E-03 1,83E-01 0,00E+00 2,46E+00 

LU m2a 1,31E-01 4,19E-02 7,93E-03 1,99E-01 7,32E-03 5,76E-05 1,64E-02 0,00E+00 8,53E-04 
ByP kg 6,12E+00 9,89E-01 0,00E+00 0,00E+00 5,13E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

*GWP: Global warming potential; GWP LU-LT: GWP Land use and land transformation; AP: Acidification Potential; EP: Eutrophication potential; POCP: 
Formation potential of tropospheric ozone; Abiot elem: Abiotic depletion potential - Elements; Abiot f: Abiotic Depletion Potential -Fossil fuels; WSP: Water 
Scarcity Potential; HT: Human toxicity; Ecotox W: Freshwater aquatic eco-toxicity; EF: Ecological footprint; LU: Land use; ByP: By-products. 
 

 

 

 



 

 

31 

PARAMETER UNIT TOTAL 

UPSTREAM MODULE CORE MODULE DOWNSTREAM MODULE 

Production 
of olive oil 

Production 
of 

electricity 
and fuel  

Production 
of 

packaging 
materials 

Extraction 
of olive 

oil 

Packaging 
phase Distribution Use 

phase 
End-of-

life 

USE OF RESOURCES 
Primary 
energy 
resources - 
Renewable 

Use as energy carrier MJ 2,34E-01 2,18E-01 4,47E-04 1,08E-03 5,41E-04 3,99E-06 4,17E-04 0,00E+00 1,13E-02 
Used as raw materials MJ 4,45E+00 4,19E+00 2,14E-02 1,06E-01 9,13E-03 6,85E-05 8,51E-03 0,00E+00 1,32E-01 

TOTAL MJ 4,69E+00 4,41E+00 2,18E-02 1,07E-01 9,67E-03 7,25E-05 8,93E-03 0,00E+00 1,43E-01 

Primary 
energy 
resources - 
Non-renew 

Use as energy carrier MJ 4,03E+01 7,54E+00 1,23E+01 2,63E+00 1,01E+00 7,38E-03 1,11E+00 0,00E+00 1,64E+01 
Used as raw materials MJ 5,74E+00 2,59E+00 4,88E-01 7,65E-01 2,81E-01 1,26E-03 1,93E-01 0,00E+00 2,31E+00 

TOTAL MJ 4,61E+01 1,01E+01 1,28E+01 3,40E+00 1,29E+00 8,64E-03 1,30E+00 0,00E+00 1,87E+01 

Secondary material kg 4,76E-03 0,00E+00 0,00E+00 3,48E-03 1,28E-03 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Renewable secondary fuels MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Non-renewable secondary fuels MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Net use of fresh water m3 eq. 1,65E+00 1,64E+00 0,00E+00 0,00E+00 1,56E-02 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
WASTE PRODUCTION AND OUTPUT FLOWS 

Hazardous waste disposed kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Non-hazardous waste disposed kg 1,29E-03 0,00E+00 0,00E+00 0,00E+00 1,29E-03 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

Radioactive waste disposed kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Components for reuse kg 8,95E-05 0,00E+00 0,00E+00 0,00E+00 0,00E+00 8,95E-05 0,00E+00 0,00E+00 0,00E+00 
Material for recycling kg 6,21E-01 1,44E-04 0,00E+00 2,94E-06 0,00E+00 1,05E-03 0,00E+00 0,00E+00 1,51E-02 

Materials for energy recovery kg 5,46E-01 0,00E+00 0,00E+00 0,00E+00 5,46E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Exported energy, electricity kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Exported energy, thermal kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

 

 

 

 



 

 

32 

Table 14. Results of 1 litre of organic extra virgin olive oil bottled in PET of 5 lt. 

PARAMETERS* UNIT TOTAL 

UPSTREAM MODULE CORE MODULE DOWNSTREAM MODULE 

Production 
of olive oil 

Production 
of 

electricity 
and fuel  

Production 
of 

packaging 
materials 

Extraction 
of olive 

oil 

Packaging 
phase Distribution Use phase End-of-

life 

GWP Fossil kg CO2 eq. 2,06E+00 5,35E-01 1,62E-01 5,01E-02 6,81E-02 1,51E-05 5,77E-02 0,00E+00 1,19E+00 
GWP Biogenic kg CO2 eq. 7,90E-02 1,12E-02 2,17E-03 1,61E-02 4,82E-02 -5,15E-08 5,75E-04 0,00E+00 7,37E-04 
GWP LU-LT kg CO2 eq. 2,01E-03 1,48E-03 7,66E-05 1,91E-04 9,17E-05 4,17E-09 2,25E-05 0,00E+00 1,47E-04 
GWP TOTAL kg CO2 eq. 2,14E+00 5,48E-01 1,64E-01 6,64E-02 1,16E-01 1,51E-05 5,83E-02 0,00E+00 1,19E+00 
AP kg SO2 eq. 1,41E-02 4,94E-03 1,33E-03 2,82E-04 4,08E-04 9,58E-08 2,71E-04 0,00E+00 6,88E-03 
EP kg PO4 3- eq. 2,20E-01 2,18E-01 2,73E-04 1,15E-04 3,06E-04 1,88E-08 5,61E-05 0,00E+00 1,20E-03 
POCP kg C2H4 eq. 1,26E-02 1,01E-04 1,75E-04 1,74E-04 2,35E-04 1,21E-07 3,25E-04 0,00E+00 1,16E-02 
Abiot elem kg Sb eq. 1,50E-05 1,38E-05 8,31E-08 1,92E-07 1,09E-07 4,09E-11 1,09E-07 0,00E+00 6,91E-07 
Abiot f MJ 3,96E+01 6,98E+00 1,22E+01 7,93E-01 8,94E-01 2,36E-04 9,54E-01 0,00E+00 1,78E+01 
WSP m3 eq. 1,30E+00 1,30E+00 6,40E-04 3,70E-04 8,45E-04 1,67E-08 1,19E-04 0,00E+00 1,14E-03 
HT kg 1,4-DB eq 3,11E+00 2,90E+00 2,07E-02 1,15E-02 8,28E-03 2,31E-06 7,67E-03 0,00E+00 1,63E-01 
Ecotox W kg 1,4-DB eq 1,23E+00 1,10E+00 2,29E-02 1,80E-02 5,17E-02 1,66E-06 8,79E-03 0,00E+00 3,41E-02 
EF m2a 5,64E+00 1,49E+00 4,65E-01 1,80E-01 2,29E-01 4,11E-05 1,68E-01 0,00E+00 3,11E+00 

LU m2a 1,31E-01 4,19E-02 7,93E-03 4,54E-02 7,32E-03 1,46E-06 1,50E-02 0,00E+00 1,39E-02 
ByP kg 6,12E+00 9,89E-01 0,00E+00 0,00E+00 5,13E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

*GWP: Global warming potential; GWP LU-LT: GWP Land use and land transformation; AP: Acidification Potential; EP: Eutrophication potential; POCP: 
Formation potential of tropospheric ozone; Abiot elem: Abiotic depletion potential - Elements; Abiot f: Abiotic Depletion Potential -Fossil fuels; WSP: Water 
Scarcity Potential; HT: Human toxicity; Ecotox W: Freshwater aquatic eco-toxicity; EF: Ecological footprint; LU: Land use; ByP: By-products. 
 

 

 

 



 

 

33 

 

PARAMETERS UNIT TOTAL 

UPSTREAM MODULE CORE MODULE DOWNSTREAM MODULE 

Production 
of olive oil 

Production 
of 

electricity 
and fuel  

Production 
of 

packaging 
materials 

Extraction 
of olive 

oil 

Packaging 
phase Distribution Use 

phase 
End-of-

life 

USE OF RESOURCES 
Primary 
energy 
resources - 
Renewable 

Use as energy carrier MJ 2,32E-01 2,18E-01 4,47E-04 2,89E-04 5,41E-04 1,40E-07 3,81E-04 0,00E+00 1,28E-02 
Used as raw materials MJ 4,41E+00 4,19E+00 2,14E-02 1,19E-02 9,13E-03 2,33E-06 7,78E-03 0,00E+00 1,64E-01 

TOTAL MJ 4,64E+00 4,41E+00 2,18E-02 1,22E-02 9,67E-03 2,47E-06 8,17E-03 0,00E+00 1,76E-01 

Primary 
energy 
resources - 
Non-renew 

Use as energy carrier MJ 4,18E+01 7,54E+00 1,23E+01 8,59E-01 1,01E+00 2,51E-04 1,01E+00 0,00E+00 1,90E+01 
Used as raw materials MJ 6,88E+00 2,59E+00 4,88E-01 1,98E-01 2,81E-01 4,28E-05 1,77E-01 0,00E+00 3,14E+00 

TOTAL MJ 4,87E+01 1,01E+01 1,28E+01 1,06E+00 1,29E+00 2,94E-04 1,19E+00 0,00E+00 2,22E+01 

Secondary material kg 1,44E-03 0,00E+00 0,00E+00 1,56E-04 1,28E-03 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Renewable secondary fuels MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Non-renewable secondary fuels MJ 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Net use of fresh water m3 eq. 1,65E+00 1,64E+00 0,00E+00 0,00E+00 1,56E-02 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
WASTE PRODUCTION AND OUTPUT FLOWS 
Hazardous waste disposed kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Non-hazardous waste disposed kg 1,29E-03 0,00E+00 0,00E+00 0,00E+00 1,29E-03 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Radioactive waste disposed kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Components for reuse kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 8,95E-05 0,00E+00 0,00E+00 0,00E+00 
Material for recycling kg 4,94E-03 1,44E-04 0,00E+00 5,00E-07 0,00E+00 1,80E-04 0,00E+00 0,00E+00 4,62E-03 
Materials for energy recovery kg 5,46E-01 0,00E+00 0,00E+00 0,00E+00 5,46E-01 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Exported energy, electricity kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 
Exported energy, thermal kg 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 0,00E+00 

 

 



 

 

34 

8 Additional information 

Agricultural practices can play an important role in atmospheric 

CO2 emission and fixation. 

 

The company´s vision tries to implement year by year best 

agronomical practices to assurance the sustainability of their 

fields.  

 

So, Luque Ecologico would show through its data the benefit of this 

agronomical practices. 

 

Based on the article “Net CO2 storage in Mediterranean olive and 

peach orchards” published by A. Sofo et al, we have assessment the 

balance between the total GWP emissions of our generic functional 

unit and the CO2 fixation through senescent leaves and pruning 

material.  

 

 
5 Net CO2 storage in Mediterranean olive and peach orchards. Adriano 
Sofo a,*, Vitale Nuzzo a, Assunta Maria Palese a, Cristos Xiloyannis a, 
Giuseppe Celano a, Paul Zukowskyj b, Bartolomeo Dichio 

The fixed CO2 by a mature olive orchard, show in this publication 

is 9,54 t ha-1 year-1.5 Taking note that Luque Ecologico manages 149 

Has for covering its needs of olives for producing the total amount 

of olive oil includes in this EPD, we can compare this data an obtain 

the next figure:  

 

 

 

 

-14
-12
-10
-8
-6
-4
-2
0
2

Carbon
Footprint

CO2 fixed CO2 balance

kg
 C

O
2 

eq
./

L 
EV

O
O

CO2 balance in a liter of 
Organic Extra Virgin Olive Oil



 

 

35 

9 Information related to sector EPDs 

• The selection of the production sites in this EPD have been 

the specific production sites of the functional unit: 

agronomic farms, mil and packer of Luque Alcubilla SL. 

 

• In order to assessment of environmental impacts the last 

three harvest 2016/2017, 2017/2018 and 2018/2019 have 

been applied based on the representativeness of volume of 

organic EVOO market in each campaigns.   

 

• This EPD covers average values for an entire product 

category. The following table shows the percentage of 

representativeness per each packaging over the functional 

unit. The functional unit is an average for different types of 

packaging, hence, this product is not available for purchase 

on the market.   

 

 

 

 

10 Differences versus previous versions  

This EPD has new aspects versus previous version of Luque 

Ecológico: 

 

æ The data has been updated and corresponds to last three 

campaigns 2016/2017, 2017/2018 and 2018/2019 versus the 

information of previous EPD that only included the 

campaign 2013. 

æ A new stage within of Agronomic Phase has been included. 

The emissions of fertilizers, plant protection products and 

pesticides has been assessed according to PCR 2010:07 v 

3.0. 

æ Irrigation system is applied in the recent agronomic 

campaigns. The water used in this operation has been 

assessed to obtain the final environmental impacts. The 

previous version did not apply irrigation within agronomic 

phase.  

 

 

 



 

 

36 

11 References  

æ Product Category Rule (PCR) of VIRGIN OLIVE OIL AND ITS 

FRACTIONS PRODUCT GROUP: UN CPC 21537 – PCR 2010:07 

VERSION 3.0 - VALID UNTIL: 2024-03-31. 

æ EPD International (2017) General Programme Instructions 

for the International EPD® System. Version 3.01, dated 

2017-12-11. www.environdec.com 

æ ISO (2006a), ISO 14025:2006, Environmental labels and 

declarations – Type III environmental declarations – 

Principles and procedures. 

 

 

 

 

 

 

 

 

 

 

12 Declaration validity 

The validity established for this environmental statement to Luque 

Ecologico S.L, is a 5 year period starting from the date of the 

verification report (until June of 2025). 

 

This Environmental Product Declaration can only be compared to 

that which relates to the same product category within the same 

recognition scheme. 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

37 

13 Verification 

This verification has been made under PCR 2010:07 v3.0 and the 

Environdec´s Program General Instructions 3.01. published in 

December 2017.  

 

The declaration is complete and contains:  

• Product definition and physical data related to 

manufacturing.  

• Details of inputs and their origin.  

• Description of how the product is manufactured.  

• Data on the conditions of use, and the final phase of life.  

• Results of the evaluation of the life cycle.  

• Evidence, verification and testing. 

Independent verification according to ISO 14025:2006 

         EPD process certification                 EPD verification 

Procedure for follow-up of data during EPD validity involves third 
party verifier: 

          Yes                                                No  

Third party verifier:  

 

 

 

Anxo Mourelle Álvarez 

Approved by: The International EPD® System Technical Committee, 

supported by the Secretariat 

A Coruña – Spain, 20 June of 2020 

X 

X 


